Math Puzzles answers

1. 5625=9
625=7
25="?
Answer= 5625/25=225=2+2+5=9
625/25=25=2+5=7
25/25=1

2. Tam a number
Not an odd number
Higher than 9o
Not higher than 100
If subtracted from 100, you get nothing
What number am I?

Answer: 100

3. 9+3+0=0
1+2+5=10
2+4+7=56
3+9+1=7

Answer : just use a multiplication sign instead of the plus sign. Then you get the correct answer
(27)

4. 24375
3+7=17
4+5=19
5+8=37
6+7="7?

Answer: 2+3=2*3-(3-2)=5
3+7=3*7-(7-3)=17
4+5=4*5-(5-4)=19
5+8=5*8-(8-5)=37
6+7=6*7-(7-6)=41

41

5. 22+4=24
13+6=16
80+2=82
67 +9="7?7

Answer: take first digit of first number and take the second number => together you have the
result

67 + 9 is then 69



Answer: 936

12 4 => 1+2 4*4 => 316
235=>2*23+5=>48

781 =>7+81*1=>151
90 6 => 9+0 6*6 => 936

6. Image

Answer: Each of the six numbers is divisible by 3 except number 53. So the number 53 is
the correct answer.

7. Image

Answer: 5 .Top number multiplied by lower left number subtracted by the lower right one.

Riddles answers

1. How many bricks does it take to complete a building made of brick?
Answer: Only one - the "last" one.

2. What is taken before you can get it?
Answer: Your picture.

3. It can be cracked, It can be made,
It can be told, it can be played.
What is it?

Answer: joke

4. Ahome of wood in a wooded place, but built not by hand. High above the earthen
ground, it holds its pale blue gems. What is it?

Answer: Nest

5. It's got twists and turns, but has no curves. Twist it to fix it, turn it to ruin it. What is
it?

Answer: Rubik’s cube

6. The sharp slim blade, that cuts the wind. What is it?

Answer: Grass

7. Round as an apple, deep as a cup, and all the kings' horses can't fill it up. What is it?



Answer: Well

8. What is it something that you always have but you always leave behind?

Answer: Finger prints

Wuzzles answers

1. You can count on it

2. Foot in the door

3. No can do

4. Honest to goodness

5. Way overpriced

6. Living on a shoestring



